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Iy mwn: mixture of 01 with other liquids (including o'n7)
a if: (w21n) 07 got mixed with water - if it looks like blood — w3
i pnr 7 only applies if water fell into o7; if 07 fell into water, each drop becomes 501 to o'n (can’t be used)
1 note (97): this doesn’t apply to nTn »03 — N¥Na "NT PR (> even if NN o7 fell into water - must be covered)
b if: o7 got mixed with(red) wine, we imagine it to be (the same volume of) water — if it would have o7 &I — w2
¢ if:it got mixed with o7 of other animals (not n117p) — we imagine it to be water (if it would have etc.)
i dissent: '’ "1 — 0T can never be nullified by other n7 (502 8 102 n)
II 't mwn:mixtures of woin o1 with invalid o7 for 129p
a  if: it got mixed in with 07 of invalid na1p — it should be spilt in the trench (nnr)
b if:it got mixed in with n>¥nnnn o7 (blood squeezed out after wain o7 is drained) — should be spilt in nnr
i dissent: R allows the mixture of r>xnnn o7
ii  all agree: that if the 102 did not ask first (and put it on the nam) — w3
I %"avv's ruling and the attendant discussion
a  ruling: if one took a n’12 each of 9n 519 and ®nv (all meat) and mixed them together — no man for eating mix
i reason: impossible that one isn’t cancelled by others
it implications:
1 nullification: 1o>R can nullify each other
2 v’z oyv im - if generated by a vIyn —is not n"nn
3 ANInr pav nRInn is invalid (because any nxnn given for the mix is pao nNRINN)
b challenge (x¥17): if dough was made of rice and wheat - if it had wheat taste, - liable for nYn
i even though: a majority is rice!
ii  answer: this obligation is v
iii  block: ®o>o of that ruling — one may use it to fulfill n¥n N¥n on noa
¢ answer: 9" must hold that wwna pn is judged based on a1 (hence his ruling) and n”)wan — by taste
i challenge: why not assess n”an as if it were n"Rwan, as we do in our mwn (07 and 1’ mixing)
1 suggestion: we don’t imagine the wine to be water; rather the o7 to be water
(a) blocks: it should read Yva (the oTis Yv1); and explicit Xn»11 in which »" rules that we imagine white
wine or milk in a vessel being %201 to be red wine - if it would get lighter (from the water) — 10
(i) meaning: we assess n"an as if it were n”Rwan
2 answer: this is a dispute among p>Rin, in re a pail with white wine or milk that needs n%av
(a) proom we follow 2 (water of mipn that goes in as against wine/milk)
(b) /77277 we imagine... (as per above)
3 challenge: ruling that if a pail is full of spittle and he is %>avn — invalid
(a) but: if it was full of urine, we imagine it to be water (automatically valid upon n%1v)
(b) and: if it was full of nrvn ’m — there must be more Mmpn water than nxon "
(i) note: must follow »™; he is the author of "pr1” - (imagining 11 as 1N 1wRW) - and he relies on 21
(c) answer (»ax): this ruling is his own; the other follows his master (3"1) who rules that blood cannot negate
blood; spittle cannot negate spittle, nor can urine negate urine;
(d) answer (#37): that ruling is for a case where the »>7 is 1910 but its backside is xnv;
(i) essentially: it only requires a bit of mpn 'm coming in; 1327 were concerned that he may not want to
put it in mpn at all and broadened the requirement — but if there is 217 — that is suffient
IV x17's categorization of resolving mayn
a N IYRwa Pn:is determined by taste (XnYv1 1317 NINR)
b rnapn: determined by majority (X1172 1227 N0R)
¢ where color is the definining factor, the color determines (Xmna 1327 MNR)
d  atodds with: 8", who rules that just as n¥n cannot negate each other, so too 1?17v°X cannot negate each other
i note: 590 is the authority who holds 1 nXk 7w mbvan nnxn PR, as he would eat noa with 911m n¥n (per v. 1)
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V  (mman knavin) ko1 regarding cleaning the chamber pot of a nan ar (who's 0931 ' are kno)
a  ppomif it was cleaned 3 times, we assume all 0’537 'n to be gone, and is 1o
i caveat: only if water were used; if D931 'n were used — no removal, regardless of how many times cleaned
b »Zax7 evenif he used o937 »n the 3 time — v
i note: the p"n must be N "3 — he holds n”an is never Y01 (= D937 ! cannot be used to cleanse DY M)
ii  challenge: if a nT1is spinning flax — someone who moves it is 110
1 but:if it was moist (from her spittle) — knv
2 gmi /7 evenif it is cleaned (afterwards) in water — still Xnv due to her spittle
3 answer (97): spittle is different — it is thick and isn’t removed with water
VI analysis of end of 't mwn — dispute n'non/x™ about n xnnn o7
a  7ar’r they disagree about whether we decree a n1 in wTpn (whether we should ban doing 7”7t with this mixture of
majority 9w3 07 and some n'¥nnn BT, as a precaution against doing 7”17t with a mixture with n'xnnn o7 217)

b 977 all agree that we do (sometimes) make a wTpna nn; dispute is whether nnnn o7 is ever of greater volume than
VAN DT

i analysis:
1 977 works well with split presentation of dispute — 15108 07 is presented separately from n'xnnn o7
2 par“r should be presented as one statement (n’xnnn o071 R P710AN D71 2IYM) - RVP
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